f:A— Bis1l:1 iff f(x)= f(y) implies x = y.

f:A— Bis1:1 iff z # y implies f(x) # f(y).

f:A— Bis1:1 iff forall x #vy, f(x) # f(y).

f:A— BisNOT 1:1 iff there exists x # y such that f(z) = f(y).
Determine if the following functions are 1:1. Prove it.

1.) f:R— R, f(z) =22

2.) f:[0,00) = R, f(x) =22

3.) f:[0,00) = [0,00), f(x) = 22

4) f:R— R, f(x) =23

5) f:R— R, f(x) =2

6.) f:R— R, f(r)=8x+2

7) f:R— R, f(z)=2%+3x

8) f:R— R, f(x)=¢€"

9.) f:R— R, f(z) = 2* + 22

10.) f: R — R, f(z) = sin(x)



